Converting Between kg, g and mg (A)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.
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1. Convert 0,0189 kg to mg

2. Convert 620.000 g to kg

3. Convert210mgto g

4. Convert 75.370.000 mg to kg

10.

Convert 1.100.000.000 mg to kg
Convert 45.600 mg to g
Convert 0,5719kgto g

Convert 94,17 g to mg

Convert 0,0036kgto g

Convert 0,00092 g to mg
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Converting Between kg, g and mg (A) Answers

Name: Date: Score:

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

T giga
+ centi
milli

+ nano

/10

> X

10.

o 2 { mega
w =~ T kilo
N = T hecto
— & T deca
— o T deci
& = T micro

© Q
e
&8 1

Convert 0,0189 kg to mg

0,0189kg X 10 X 10 X 10 X 10 X 10 X 10 = 18.900 mg
Convert 620.000 g to kg

620.000g +~ 10 - 10 +~ 10 = 620 kg

Convert 210mgto g

210mg+10+10+10=021g

Convert 75.370.000 mg to kg

75.370.000mg =+ 10 = 10+ 10 + 10 = 10 =+ 10 = 75,37 kg
Convert 1.100.000.000 mg to kg

1.100.000.000 mg - 10 + 10+ 10+ 10+ 10 + 10 = 1100 kg
Convert 45.600 mg to g

45.600mg ~ 10 + 10+ 10 = 45,6 g

Convert 0,5719kgto g

0,5719kg x 10 X 10 X 10 = 571,9¢g

Convert 94,17 g to mg

94,17g X 10 X 10 X 10 = 94.170 mg

Convert 0,0036kgto g

0,0036kg X 10X 10 X 10 = 3,6 g

Convert 0,00092 g to mg

0,00092g X 10 X 10 X 10 = 0,92 mg
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